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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.

&H ST &1 WA IfFaal & 43 §, o1t Ucd+ A 91y <A 8, 59 TR Aol Tl &
fraAE gl gl afFa 17 - v, w, X, v 3R 2 33 § (@ sl 7181 & st o o o) silv 3T wsfh
FIHE SR P INL IFT2H - F, G, H, 1 317 ) 33T (AfraT sl 181 T st wor ot ) s 31
T3t &1 7@ faor A 3R ¢ SHAT, & 71 o Y TaTYUT A, T UfFd # 38 TS HEEd &I
@ g dl Ui & gy e A AR TN Y, W H a2 & e e R der ¥ ag Ay A 3R s
EaE F$ o ¥ g T W AT} F 3R 1 & i e v safFa ot H A v gEY &
frreds asilt €1 ) afFa & frel oft 3ifasr s gt dor | g safFa N e Fr AR 3=A@ e, 2%
P A doT 81 X, 2 FT Aheaq =1 AT &
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Ten people are sitting in two parallel rows
having five people each, in such a way that
there is an equal distance between adjacent
persons.Inrow 1-V, W, X, Y and Z are seated
(but not necessarily in the same order) and all
of them are facing North.Inrow2-F, G, H, |
and J are seated (but not necessarily in the
same order) and all of them are facing south.
Therefore, in the given seating arrangement,
each member seated in a row faces another
member of the other row. Y sits third to the
left of W. The one who faces Y sits second to
the right of F. Only one person sits between F
and I. H and J are immediate neighbors of
each other. J does not sit at any of the
extreme ends of the line. The one who faces G
sits to the immediate right of Z. X is not an
immediate neighbor of Z.
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36. Who amongst the following faces H?

frrfaf@a & @ Fla H#r AR 37T 72
AY BV €z DW EX

37. Who amongst the following sits to the immediate left
of the person who sits exactly in the Middle of the row

with south facing people? AFafaf@a & q =i 39
AfFd & S a1 a1 § S AT AT IR HG FH
$ ot & Wiy 9fFT F SF Aew F dor ¥7

A.l B.H C.1 DC E.F

38. Who amongst the following sits third to the right of

the person who faces X?ﬁfﬁlﬁﬁﬁ' T dlF XY
IR 3+HT AFT F g F Ny T W o1 372
A.G B.F C.J D. | E.H


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/

39. Four of the following five are alike in a certain way
based on the given seating arrangement and thus form a
group. Which is the one that does not belong to that
group? & 3§ 43 A TTEAT F IMYR W
frfaf@a g/ # ¥ IR v @AfRRaa ol @ ad =
g 3 W YFR UF WA dd 8| 9§ SieT AT §

:ﬂrm#mﬁaﬁ%?
A.HB.IC.WD.YE. X

40. Which of the following is true regarding V?

VEH gay A farafaf@a & @ «la a1 a3 82
A. None of the given options is true

B. An immediate neighbor of V faces F

C. X is an immediately neighbor of V

D. W sits to immediate right of V

E. V faces |
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1.Statements:

A. If either conclusion | or Il follows. A<N<D>R;E>D<W
B. If neither conclusion | nor Il follows. Conclusions:

C. If only conclusion Il follows. . W>A

D. If both conclusion | and Il follow. I.A=W

E. If only conclusion | follow.

2. Statement:
P<O<L<E=S>A
Conclusions:
I.LA<O
II.S>P
| 3. Statement:
M<O<B>I=L>E
Conclusions:
. B<E
I.L>M

4. Statements:
A<N<D>R;E>D<W
Conclusions:
. E>N
I.L.R<W
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Nine people M, N, P, Q, R, S, T, V and W are seating equidistance in a row
and all are facing north. Exactly 3 persons sit to the left of R. One person sit
between M and R. P sits third to the right of the M. As many people sit to
the right of P as to the left of S. Only 3 people sit between Q and S. T sits 4
th to the left of the W. N is one of the persons, who sit to the right of V.

AteafddT M, N, P, Q, R, S, T, V 3T W U& ufed & AT Qi W3S § 3l
TN FT A WA I SF3ARFIRFITA R TIMIRRF A=
ThH AR SSTg 1 P, M & S A R TATH W SST8 | P F e &8 faaet
AT SsHFIF 43I QF T Faa3 aras gl 3HTs. T wH TR a ol
TAT R ASTIEI N, VEH SRt AN dS aFaar A v g

o=
hz:ooiﬁ;'
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Nine people M, N, P,Q, R,S, T, Vand W are
seating equidistance in a row and all are
facing north. Exactly 3 persons sit to the left of
R. One person sit between M and R. P sits
third to the right of the M. As many people sit
to the right of P as to the left of S. Only 3
people sit between Q and S. T sits 4 th to the
left of the W. N is one of the persons, who sit
to the right of V.
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S VTRQMWNP

L]

5. Number of persons sitting between N and M
N3 M. & fig 35 =Faar fr gean
A.1 B.2 C.3 D.5 E.Morethan5

6. Which of the following pair of persons are sitting at
the extreme end?

fefaf@a & 9 =afFaal &1 sl a1 e
fasT sR T dar 87

A.SandP B.Pand N C.Qand W
D.WandS E.TandQ

7. Who is sitting 2nd to the right of Q?
Q¥ S § qEY TU G i a1 872
AM BW CN D.P ET
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SVTRQMWNP 8. Find the odd one out.

A.QV B.NQ C.SR D.TW E.MP

9. Which of the following is true?

ffaf@a & @ «ia a1 @6 87

A. 2 persons sit between Q and W

B. More than 2 persons are left of S

C. None of the option is true

D. T sits immediate right of R

E. N is the second person from the right extreme
end.

10. Who is sitting at the right end?
g BR W &I daT 872
A.J B.B C.O0O D.P E.Q


http://www.mahendras.org/

SBI CLERK 2022 / /@ at 11:30 AM/ n

Eight people A, B, C, D, E, F, G and H are seating equidistance around a circle. Some of
them are facing inside and some are facing outside. H is sitting immediate right of F. 3
persons are sitting between F and C. C is sitting third to the left of A. G is sitting
immediate left of A. C and D both face centre. Immediate neighbors of G face different
direction. B is sitting second to the left of E. Both immediate neighbors of E faces same
direction as B. Both immediate neighbors of D face towards centre.

IS SATFA A, B, C, D, E, F, G T H Th T & TRI 3N FATA gl TS 81 397 W F& F1
wmaﬁrm%ﬁ?mmwwaﬁsﬂt%l HFFSF e Yot FailRcFaas
T ¢ AFTF TN EwF R 6, Aﬂ;aa;aﬁrﬁar%l C 3R DAY T
waaaﬁaﬂt%lea:ﬁmqaﬁmmwfﬂﬁrﬁena%m%l B,EF ST H

T W ST | Ea:aﬁﬁmwwqﬂﬁ'a’rmwsa:mﬁmaﬁm%l DF

e T3l &1 7@ g Fr AL
$2:00


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Eight people A, B,C,D, E,F, Gand H are
seating equidistance around a circle. Some of
them are facing inside and some are facing
outside. H is sitting immediate right of F. 3
persons are sitting between F and C. Ciis
sitting third to the left of A. G is sitting
immediate left of A. C and D both face centre.
Immediate neighbors of G face different
direction. B is sitting second to the left of E.
Both immediate neighbors of E faces same
direction as B. Both immediate neighbors of D
face towards centre.
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11. Find the odd one out.
*— " fawa |
A.D B.C C.A D.H E.E

12. Who is sitting 3 rd to the left of E?
Ed a1 § oY TU @ FisT dor 82
A.F B.G C.D D.C E.A

13. Which of the following is not true?
. 3AH & P °r g ad B2

A. A is sitting second to the left of B.
B. 3 persons sit between B and G

C. His an immediate neighbour of D
D. A face outside.

E. All are true
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14. Statements:

No dolphins is Latch
All trans are dolphins
No ship is a latch

Conclusions:
1) At least some dolphins are ships
2) No dolphin is a ship

A. Only 1 follows

B. Either 1 or 2 follows
C. Only 2 follows

D. Both 1 and 2 follow

E. Neither 1nor 2 follows
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15. Statements:

All nodes are toys

Only a few statues are nodes
All statues are cases.

Conclusions:
1) All toys being statues is a possibility
2) Some nodes are definitely not cases

A. Neither 1 nor 2 follow
B. Either 1 or 2 follows
C. Both 1 and 2 follow

D. Only 1 follows

E. Only 2 follows
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16. Statements:

No dolphins is Latch
All trans are dolphins
No ship is a latch

Conclusions:
1) Some ships being trans is a possibility
2) No latch is a trans.

A. Either 1 or 2 follows

B. Neither 1 nor 2 follows
C. Only 1 follows

D. Both 1 and 2 follow

E. Only 2 follows
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17. Statements:

All nodes are toys

Only a few statues are nodes
All statues are cases.

Conclusions
1) All nodes are cases
2) No statue is a toy

A. Only 1 follows

B. Either 1 or 2 follows

C. Neither 1 nor 2 follows
D. Both 1 and 2 follow

E. Only 2 follows
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18. How many such pairs of letters are there in the word “IMPERATIVE”, each of whlcl'mas
as many letters between them in the word (in both forward and backward directions) as
they have between them in the English alphabetical series?

rsg "IMPERATIVE" ® I&TY & 0/ fohaer o3 8, B9/ & A+ & €T asg &
(3 AR S St st A) A & qeR § a3 dr 3ASh qoiATe
@l

c

A. Six

B. Seven

C. More than eight
D. Less than six

E. Eight
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19. Change all the vowels of the word “PRECIOUS” to its next letters
and all the consonants to its previous letters and then arrange them in
alphabetical order. Which letter will be 4 th from the right?
rsg "PRECIOUS" & 3T TaRT & 30% 33rar HaRT & 3w st
Il A 3EF Ao R 7 agd AR T 38 Juitega &
cAqTedd Y| FieT AT I’&W g A IlAT ghom?

A.)

B.B

C.O

D.P

E.Q
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20. All the even value digits of the number '746238945' are increased by 1
and all the odd value digits are decreased by 1, then what will be the sum of
the 4th number from the right and fifth number from left?

HEAT '746238945' & ¥ TH AT 3 &' 1 & do1 A1 amar ¢ 3R
Hﬁﬁwmmaﬁ1#wﬁmm% ar e ¥ =it I
I I ¥ gradt FEAT FT AR FAT {RPM?

A. 8
B. 10
C. 15
D. 11
E. 12
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10 people celebrate their birthday on 15th and 20th of 5 months- January, March, April, June and
November. R celebrates birthday after Q. L celebrates his birthday on 15th of the month which
has 31 days. Exactly 2 persons celebrate their birthdays between that of L and P. Exactly 3
persons celebrate birthday between that of P and O. M celebrate birthday just before T but not in
June or November. Also, both M and T celebrate a birthday in the same month. The number of
persons celebrating a birthday before O is same as the number of persons celebrating birthday
after N. Both U and S celebrate a birthday in the same month and U celebrates a birthday before

S.

5 FEeT T 15 3 20 ARG FY 10 T AT AT HAT &- STe1a), AT, 34, 5767 3R
sTda<| R, Q ¥ 91 STeA ST AT & Lma*nﬁ?rwn%’lﬁa?usamwaﬁm%ﬁmﬁ
31 R 21 ¥ 81 2 a3 L 3R P & <1 31911 STeA TR A1 ¥ 81 3 saFa P 3R 0 & v
St HATT 81 M, TH S Igol S ool HATA & Afohet S[eT AT Ade A 81| AT &Y, M 3T
1At v & AR H TeARe HATD §1 0 ¥ IgS ST Hellet aTer SAfFaral Y HEATN F 91
He AT AATR a1} SATFAAT Y HEAT S AT 81 U 3 S kel T & A H SeaAfeet AT &
#R U, s ¥ Ig AT AATA B | W’ ol
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10 people celebrate their birthday on 15th
and 20th of 5 months- January, March,
April, June and November. R celebrates
birthday after Q. L celebrates his birthday
on 15th of the month which has 31 days.
Exactly 2 persons celebrate their birthdays
between that of L and P. Exactly 3 persons
celebrate birthday between that of P and
O. M celebrate birthday just before T but
not in June or November. Also, both M
and T celebrate a birthday in the same
month. The number of persons
celebrating a birthday before O is same as
the number of persons celebrating
birthday after N. Both U and S celebrate a
birthday in the same month and U
celebrates a birthday before S.
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Da People
p 21. Who celebrates a birthday on Apr 15th?

15 30%er B SIEARS FlT FATAT £7
CUECACEEN o.M B.L CP D.O ER

Mar 15 _

Mar 30

_ 22. Who celebrates a birthday just after R?
Apri5 M RF &F dI¢ FiT S+ATRT AATET &7

A.L B. T CN DO EM

e 517
e300

MI Jgo fFaa 39T SeAfed AFIT?
A.Q

23. Who celebrated her birthday before M?

Nov 30 |S
B.R C.T D.O E.P
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24. How many people celebrated their birthday
between Q and O?

Q3 0 F ALY fFaar eI o 39T
SoHTed HATAT?

A.4 B.5 C.6 D.2 E.None

S

25. Who celebrated their birthday just before P?
PF 8% Ugel fhual 3UAT STeHAfesT HATAT?

A.N B.Q C.R D.O E.Noneofthese

Jon 15 |

LI
Mer1SIN |
N 3
port5 M|
E
me 1SR |
June 30/0
Novi5lU |
Nov30 S
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There are five buses P, Q, R, S, T and they have different number of capacities not

necessarily in the same order.

¢ P has higher capacity than Sand T.
* R has less capacity than only Q.

e S carries more passengers than T.

o P AT &THAT S AT A HAF §I
e RATTHATHAT QA FHEI
o S, T U 31T LT Y 95T FIAT &

5557

26. If R carry 62 Passengers then what would be the capacity of

bus Q? IfE R62 TIRAAT &I o ATAT &, af QFH HT &JHAT
T greir?

A.53 B. 24 C.71 D. 49 E. None of these

27. Which bus has the least capacity? ffd a0 &Y &7H7dT
qqq & 872

A.Q B.P C.R D.T E. None of these

28. If P carry 25 passengers and T carry 9 passengers then what
would be the capacity of S which is divisible by 3 and not

divisible by 5? If& P 25 TIAAT T o STar & 31T 179 AT
N o ST g, dY ST &THdT 4T gl o 3 ° fasw #
IR 5 ¥ R ad &2

A. 15 B.18 C.20 D. 27 E. None of these
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 29. What is the code of ‘crowd’?

‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. miti B. sik C. dic D. tif E. None of these
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’.
‘season for festival’ is coded as ‘nis, tif,vij'.

‘delhi for country’ is coded as ‘viki, noo, tif’.

30. What can be the code of ‘festival in
india’?

A. vij, veru, zee

B. vij, miti, zee

C. vij, dic, sik

D. vij, dic, zee

E. None of these

31. What is the code for ‘festival in
india crowd capital’?

A. vij, dic, veru, sik, miti

B. vij, dic, jai, sik, miti

C. vij, dic, veru, sik, viki

D. vij, dic, meeg, sik, tif

E. vij, dic, mee, sik, miti
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‘the capital of delhi’ is coded as ‘jai veru miti
viki’.

‘many festival in delhi’ is coded as ‘viki,
nic,dic,vij’ .

‘crowd in the capital’ is coded as ‘dic, veru, miti,
sik’.

‘season for festival’ is coded as ‘nis, tif,vij'.
‘delhi for country’ is coded as ‘viki, noo, tif’.

32. What is the code of ‘capital ’?
A. ‘vik’ or ‘miti’

B. ‘veru’ or ‘miti’

C. ‘nic’ or ‘miti’

D. ‘vij’ or ‘dic’

E. None of these

33. If in a certain code language
‘festival’ is coded as ‘vij’ and ‘in’ is
coded as ‘dic’ in same code language
What will be the code of ‘delhi’ ?

A. viki B. nic C.sik

D. Can’t be determined

E. None of these
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There are six members in a family. F is the sister of E and A is the brother of C's husband. B is the father
of D and grandfather of E. There are two brothers and two fathers in the family. C is married to B.

UF YRAR A S8 G &1 FER 98 ¢ 3 A, cF afad #1 51 &1 B, D &1 Nar & 3 e
grer g1 IRaR & g g 3R &Y Rar &1 ¢, 8 & farfea gl

34. Who is F's mother? F Y ATaT &l 82
A.E S JAY

C.B D. Cannot be determined

E. None of these

35. If E is married to an outsider M, how is 'F' related to M?

ﬂﬁEﬂﬁWﬁﬂﬁWWﬁﬂM#@ﬂ% ar'e,ma

fFg YR Ta&d 872

A. Brother—in—law B. Sister—in—law

C. Aunt D. Grandmother

E. None of these wg >
=% @ ;
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PQ,R,S,T,U,V, and W are eight different boxes. They are arranged in such a
manner that Box 1 is at the bottom, the box 2 is above it and so on such that the
topmost box is box number 8. R is box number 3. There are only two boxes between
the box R and the box V. Box W is placed immediately above the Box Q. There is only
one box between the box T and the box U. Box T is placed above box U. There is only
one box between the Box R and Box S. Box S is somewhere below Box T.

P,Q,R,S,T,U,V 3T W TS 3TeI9T-37c19T 19T & | 37¢ 59 dig U saareyd forar ram
%ﬁ:m1m#ﬁ% d919d 2 3 IW ¢ AR FH TE TaH FW a1l 99 919
JeT 8 8| R 1T A« 3 §| SIFH R I 91T & T FaoT Sl TFA ¢ | 96T V. 1T W,
dFT QF AF FWRIWIATE. TFA TIHR TFT U F ST FaT Th qig §. I T,
dFT U F IR IGTTATE. SFF R IR TFHT S F NI FaT TF diFT 8. S, BeaT TH

AT FET B
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PQ,R,S,T,U,V, and W are eight
different boxes. They are arranged in
such a manner that Box 1 is at the
bottom, the box 2 is above it and so on
such that the topmost box is box
number 8. R is box number 3. There are
only two boxes between the box R and
the box V. Box W is placed immediately
above the Box Q. There is only one box
between the box T and the box U. Box T
is placed above box U. There is only one
box between the Box R and Box S. Box S
is somewhere below Box T.
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36. Which among the following box is the fifth numbered
box?

Afaf@a & @ S a1 Bear qraar FASE araT Bear
A.S B.Q CW D.P EV

37. Which among the following box is exactly between the
boxes R and S?

?mﬁﬁaﬁ#ﬁamﬁwmﬁs%%aﬁaﬁ
?

A.U B.P C.V D. T E.W

38. Which among the following is the topmost box?
farfaf@a & & 99@ 3 arer Bear sia ar g2
A.T B.Q CW D.R EV
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39. Four of the following five are alike in a certain
way and hence they form a group. Which one of the
following does not belong to that group?

8"box |W
7%box [Q
6%box |V
S™box [P ]
4%box |T
3¢box R |
1tbox [S |

40. How many boxes are there between box Q and

box U?
feear Q3 fBeal UF ALY fFdar faea £72
A. None B. One C. Two D. Three E.

Four
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Statements:
Only a few wells are mats.
All pillows are mats.

Conclusions:
(1) Atleast some pillows are wells.
(1) All wells can never be pillow.

A. If conclusion | follows

B. If conclusion Il follows

C. Either conclusion | or conclusion Il is true

D. Neither conclusion | nor conclusion Il is true
E. Both conclusion | and Il are true
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